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For it is possible to exert oneself and bring it — INKRY 7aWRY TWDHNRT

OVERVIEW

The X3 states that we cannot derive that a X is 21 for 77°28) 72°1) ,from the
fact that he is 21 for M 772w, since one can argue that by 77°28) 72°3), the
owner can possibly retrieve his animal (albeit with some effort), therefore the Hxw
should be 7w»s.! Our MooIn explains why we cannot derive it from another of the
2RW 2rm.

mooin asks:
= 2193910 99 9INRN ON)

And if you will say; let us derive the 21’11 of X" by a PXw from a 772w (a
captive animal) for which a "X is 2n, even though it is possible ™nxY mwnH?

NID0IN answers:
$9NNNI NIVNIY 3NN IDID YWAN NI NMNAYT 99D U

And one can say that it is not that readily possible to retrieve back a 192w, as
opposed to X", where it is more likely to be retrieved.

SUMMARY
It is easier to retrieve a X"1) than to retrieve a 7°2w.

THINKING IT OVER

Why did the &773 ask that we should derive X™a from 7n»1 772w (which certainly
cannot be retrieved), but did not ask that we should derive it from 72w (which has
some possibility of being retrieved)?!

I'See mxn "7 "wA

2 We have derived (on the previous 2 71) that a PR is 21 for a 7M2w from the (extra) word X in the P10 (in MW
2,25 [o°wown]) regarding a PXWw, which states n» IR 72w,

3 When an item is lost or stolen there is a possibility to find it or to apprehend the thief and retrieve the item;
however when something is taken captive by an enemy force, it is highly unlikely that it will ever be retrieved.
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